Al bpler aned Falas
Each guestion in this section is worth 1
hmmmmﬂ.ﬂdmﬂﬂ 4 is deduciod

L {ipt) In IP; the decisioe on which ouigoiug liok o forwand & g
packet depends on the soarve addoss and destination addess of the
ekt

{a) Troe
(b} Falee
2, {1yat) In the 182,61, 15064, 255.255. 255, 110 netwark, the defanlt roarer

aheabd b ansigned the midrois 18261 150.134

(&) Trie
(hy) Fubie

A (ipt) An TP pecket can be forwarded & masimum of 64 times
{a} Trou
(b} Falso
4, (IpEHCMP packts nre ucapsluted in 1 packets
{n] Tros
(b} False
5, {1pt) HOMP ls & tramsport protosl.
(&) True
(b Falso
B {1pt) OSEF & a link sinte proteeol,
() Truie
{b} Fals=
7. (Vpt) The count-tovinfinity pooblesn oovnss when vslag

{n] Distames Vector protanal
() Link State Pratoool

{c} Path Vestar Proteco]
(11} OSPF Protoml

(1] Mo of the abov

B, (1) Powsorss] roverse is ussd
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{s) To fix the count-to-lafinity problem In REP
(b} T fix the conmt-te-lnfinity probiem n O3PF
{e] ‘T fix the ageing problim in OSPF

{d} To fx the ageing problem in B

fm] Mogio ol the phove
I, [1pt) The leagth ol an TP acddress is
{n) 32 bits
(] 4 beyton
(&} all of the nboe
[} nane ol the abows

0. {Ipt) The maxlomm nomber of hosts {neignalde I addrnesses

network 12,12, 120 with mesk 255:256.06.21 |s
{m) &55

(b} 256

pep 42

{cl} 30k

[l mome of the abow

i1 {lpt) The mesdaam Jength of sn [P header &

(] 20 leyies
(b 4l byrles
i) Gl bytos
(o) B0 bvbes
(1] Boes of the nhove
12 [ ipt}The mirimn length of an [P beader i

[} 20 Lytes
{b} 4 bytes
[ [ bhytos
() KO bytes

(#] niome of thi alwove

135, {1pt)When an 1P pockes ieechiiss m router the TTEL Beld in th
headka i

is) lncromemtied by oo 3

1 Im the
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(b} decrmseabed 5 o

(€} imcreenenksl by oo

(d} decrmoented by two

(e} wone Al Lhi: sboe

14 [ipt) Lot PL be o packet s pocetved by o router {1, P2 b the same

packet forwandsd by R to 2 o P38 s saann packet-forwarded by
R7 to the deatinngion . How many fiekds o the [P beacer are different
between P1 amd P3

{aj o

ghep 1

(e} 2

{d} 3

(e} Kone af Lhe abe

15, {1pt] When the TTL feld in an TP packet reaches 0 the rombor drops
e packet naml

[a)} Sends an ICMP packet, "destination unreachalble™, to the source
(1) Bends a UDT error packet. to the souree.

(e} Sends an IOAP packet, " destinntion unreachable”, to the previos
TeHEleT,

(d} Sends na 1P packet with an option fieli] that contalin: the eror to
t e =TIEDE,

(e} Moz af the abow
Problems
|, Yoir have boes sssigned the 1.1.1.0,/24 nddres mog.
(8] {15pta)Use subnotting to divids the 1L LG/ into 8 blocks. List

the roaulting sobmeis amd the abaet misske.

(b) (Opsta) Apsign the firet 7 smadlest [P blocks to the networks in Fig-
i 1. Kotwork § sbauld b maipned the first ook, network 2 the
secund.._ete. Alse within the same pefwirk [Paoare assignad o
devies aiphnbetically: & gels the fizst memigmahle IF. ste

(e} (15pta) Glwe the forwarding tabde for routers A and 1,

() (EOpts) Opinize thesforwarding table lor A by usmg ooy O @3-
firi=.



o) (Epts) The forsmrding bl B A& eem e optlakeed fartluse Lo
chade oaly 4 entrioa, This can be dome by changing. [or anly one peteurk
iho IF block assignment dose in ih (Hist This chosen network
can be assignml any of the & blocks obeamed it 1)

(i} [5pts) Madify A's foreneding tabile so thad of all basts on Neetwark
| (e el pcld otheer lusls sl on ) only host & & oo halsl leome
A
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3. {iomits}onulder the netbwork |n Figure 2. Use Dijktza’s shartest palh
slgorithm to Gl A’ lorwsrding tolde shown bebow. Show. ol yoar sk,
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() (18pts] Show the routing tabls for souters A, T and C whet you
rii o distance wector protoool. Show all yeur work,

(b} [GptefSupposs that the cogt of ik A-F chang=s to & Withoi
deiing the enleulation ngain expisln (o o few clear words il there
{8 & coupl-to-infmity protdem,

() (SpesiSuppose that the oot of link A-B changes to 1. Without
dolng the ealeulntion agnin explain in o few clear wards i thers
is n couni-to-infindty. proldom



